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1, FEOHM

SRR 284 OIS FEZ9 H R T10, 1837 L7201  BIAEFEIZ 136 7 )
L. G, 1, 226, 285m CTHIAEE 213, 990m (1. 2%) OEEINEARVELT-,

(1) kR 41. 8605M]
X 4y |PERR28AEFE B SERR2TAEEE B = 5] R
fit k& 7 OF) 10,183 10,319 A 136

(— =) (F) ( 10,131 ) | ( 10,265 ) | ( A 134)
(fig 5 7 =) () ( 52 ) | ( 54 ) | ( A2)
it e & (m) 1,226,285 1,212,295 13,990
(— % 2) () ( 1,222,885 ) | ( 1,208,729 ) | ( 14,156 )
(i 5 2) (m) ( 3,400 ) | ( 3,566 ) | ( A 166 )
— BB & (o) 6,701 6,624 77
(— % H7 2) (m) ( 6,682 ) | ( 6,605 ) | ( 77)
(fl§ % 7 %) (n) ( 19 ) | ( 19 ) | ( 0)

(2) fEEENER 41. 8605M]
ES 2 28R FE | R 2TAEFE Bl 2= Bl HE
£ JiE A () 571,929 589,750 A 17,821

(— & 2) () ( 568,606 ) | ( 586,264 ) | (A 17,658)
(i % H 2) (ni) ( 3,323 ) | ( 3,486 ) | ( A 163)
] ¥ A () 277,110 267,231 9,879

(— % 2) (m) ( 277,034 ) | ( 267,152 ) | ( 9,882 )
(5% 7 2) (m) ( 76 ) | ( 79 ) | ( A3)
% 75) ftt (m) 377,246 355,314 21,932

(— M H =) (n) (377,245 ) | (355,313 ) | ( 21,932)
(i 5% 7 2) (m) ( 1) | ( 1) | ( 0)
& 7 (m) 1,226,285 1,212,295 13,990

(— % 2) () ( 1,222,885 ) | ( 1,208,729 ) | ( 14,156 )
(5 5 7 2) () ( 3,400 ) | ( 3,566 ) | ( A 166 )
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2. BRI,

(1) B xR CERk285-9 H 30 H)

(HAL M)
& E D i -\ & D il
1 E = PE 1,339,527,430 E = & 162,769,999
A ¥ E ' PE 1,339,187,238 (1) 1& ES & 140,759,999
A B & 301,653,027 (2) 5l = & 22,010,000
YA 1 A R B (D) 160,021,379] 4 ¥ ) A & 48,123,716
S A 5,280,551,473 (1) 4 ES & 9,099,878
ok At 12 K0 B2 3% (A) 4,083,227,723 (2) & £ 4 18,857,519
AE . N A 2,722,300 (3) Bl =] &> 0
WA 1 A R B (D) 2,490,460 (4) 78 0 4 377,415
(2) & & E &' JE 340,192 (B)Z O fih i B A & 19,788,904
A g% Kl b 340,192] 5 Ja I A 209,732,408
2 it &) = PE 199,258,298 MHE M m = & 1,236,363,108
B & H & 115,829,731 (2) B HInI &I AL R H(A) 1,026,630,700
(2) & I 4 49,189,454 a8 E& & & 420,626,123
g5 N e (A) 197,027 & A D =y
(3) it 664,258] 6 & ZN & 937,832,441
(4) J& Bt 4,839,539 7 I R & 180,327,164
(5) BT ik fi 13,942,062 & KX F R & 3,711,511
(6) Hif A & 2,160,390 A % W8 B pE BT 4 48 150,504
MHE M =5 & & 0 7T HfF A e 3,561,007
(8) & @ fth yi & & pE 12,829,891 2 # 2 F K & 176,615,653
A4 W E E & 20,984,207
Sl = IAVAR 40,192,209
AN - SR VAR 40,088,418
T P WSS R 75,350,819

g X & &t 1,118,159,605
g E & 1,538,785,728| & {& g X & & 1,538,785,728
(2) IS EE CER284FE4H 1 H ~FRk284E9 H 30 H )
(HAr M)
Z I D = i 23 D 5
2 kB Rl 93,300,796 T = 221,652,394
(Hn A A U + 221,652,394
fit % B e 133,572,223 N . 25,864,565
— % & B % 15,495,674 (1) = # T F I & 2,051,423
T oM oE ¥ E A 11,156,985] () # H Bk 72 I 4 8,458,221
1) = # T F K M 1,815,8900 (3) #4 kb Hx 7 U & 74,921
2 = H Ik 52 J5 Ml 8,012,155] (1) Z O i = ¥ M % 15,280,000
(3) # BF Bk 5 Ji Al 68,1100 = ¥ 4 I 2§ 16,297,966
(4) = O fth = ¥ H A 1,260,830] (1) #E ¥ & 1,504,285
Y- 1,763,679] @) = Hx F) J5N 1,681
1 & ¥ #E A B 1,763,679] 3) & H A = & R A 14,792,000
(2) H X H 0
/N g 255,289,357
& F OE M M & 8,525,568
- L 263,814,925 & B 263,814,925
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3. PHEROPITIRN

(1)

P K284 AT A SRR T T REBATIRDL

(Biir4:

THHBB| T AR @ # T 1 BHAT R i &
(M) |9 ARRE(| ¥ 5 EHE) (%)
#HO¥ IV 3% | 626,309,000] 268,811,829| 357,497,171 42.92
GbH2%E )| 534,549,000 239,357,451 295,191,549 44.78
¥ M | 603,086,000 188,757,075 414,328,925| 31.30
A A 59,254,000 0| 59,254,000  0.00
& AR K | 195,188,000 34,605,720 160,582,280 17.73
OGbmska®)| 177,158,000 25,676,088 151,481,912 14.49






